
Hypothesis testing – population mean 
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Hypothesis testing - population proportion 
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Hypothesis testing - population variance 
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Hypothesis testing – two population means 
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Hypothesis testing – two population proportions 
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Hypothesis testing – two population variances 
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𝝌𝟐 independence test 

𝜒2 = ∑
(𝑜𝑏𝑠𝑒𝑟𝑣𝑒𝑑 − 𝑒𝑥𝑝𝑒𝑐𝑡𝑒𝑑)2

𝑒𝑥𝑝𝑒𝑐𝑡𝑒𝑑
 

 

𝑣 = (𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑟𝑜𝑤𝑠 − 1) × (𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑐𝑜𝑙𝑢𝑚𝑛𝑠 − 1) 

 

 

𝝌𝟐 goodness of fit test 

𝜒2 = ∑
(𝑜𝑏𝑠𝑒𝑟𝑣𝑒𝑑 − 𝑒𝑥𝑝𝑒𝑐𝑡𝑒𝑑)2

𝑒𝑥𝑝𝑒𝑐𝑡𝑒𝑑
 

 

𝑣 = 𝑟 − 𝑘 − 1 

where r = number of classes, k = number of parameters estimated from the sample 

 

 

 



 

 


